Chapter 2 Section 2.4 The Cosine Law Trigonometry

Name: Date:

Use of sine and cosine laws to solve non-right

L i 2. . : ; ;
earning Goal 2.3 triangles, including ambiguous cases.

SinZA .
RSN L CrSINA = D xe oxCSA = ZxC
= (sinA) C S
h = exginA X = CXQOSA
C A

K 0%=h*+ (b-2)°
0™ = LexSinA) + (b — excosA)?
0" = C2SIn*A + (b - weosAdLb — excosAd
A" = CZRIN%A +D0%- 20ex CoSA + CZCcosS A

o' - 02 (Sin2A+ Ccos?A) th” —2bex cosh

CRine Law
4 0- - 0% +bv*— 2bc x COSA
b> = p*+Cc*- 20C ¥ cos B
c? - o +p? - 20 xCo3C

P

C
Sine Law versus Cosine Law
WNen yowr Q\VQY) o Sin \6 —Of\\x\/s Sides IS
OX\%C-SI e PG\T - IAS LS'\dt"O.ﬁg\e -_ide)
~SSA - ASA

Assignment p.119#1-6, 8, 12,13, 15, 16, 23 Quiz Next Day!




Chapter 2 Section 2.4 The Cosine Law Trigonometry

Example Lions Gate Bridge has been a Vancouver landmark since it opened in 1938. It is the longest
suspension bridge in Western Canada. The bridge is strengthened by triangular braces. Suppose one brace has
side lengths 14 m, 19 m and 12.2 m. Determine the measure of the angle opposite the 14 — m side to the

nearest degree.
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Example In AABC,a = 11,b = 5 and 8C = 20°. Sketch a diagram and determine the length of the unknown
side and the measures of the unknown angles to the nearest tenth.
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